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—Vocabulary and Core Concept Check veul

1. COMPLETE THE SENTENCE Two distinct nonvertical lines that have t(h)a same slope a.rem_m_b

2. VOCABULARY Two lines are perpendicular. The slope of one line is —gl What is the slope of the
other line? Justify your answer. 1
m=7/5

In Exercises 9-12, write an equation of the line that
@ m=2  powvt (-] ,3)

passes through the given point and i parallel'}o the
given line. (See Example 2.) Same slope

PO\Y\‘\'“S\OF)&B__ 3: 2 ( X + | >\
Y-3=2x+2

S\ope -intercept
‘ \dza 4 +5I

In Exercises 13-18, determine which of the lines, if any,
are parallel or perpendicular. Explain. (See Example 3.)

-3u= —_4_-)_(4/_9_\ . 4 N
17. Linea: 4x — 3y = 5 3 3 7 Y=3zx-3 Lines & and b
Line b: v = %:.c + are pavallel sne

Line ¢: 4y + 3x =4 4y= -3 +f ey have 1 came
b

9. (-1.3);yv=2x+2

_—3 Qlope .
> U= T X+ ;
4= 7 x| Linec 1$ perpendicnia,

In Exercises 19-22, write an equation of the line that
passes through the given point and i to o lines aand b snw

the given line. (See Example 4.) wb rd(AW‘ e §lope § arffgzopmm's
M=-2" point-Slope| (-1v=-2(x-7)
19. (7,10);y =@: -9 P

SR g2 1ot

25. ERROR ANALYSIS Describe and correct the error in
26. ERROR ANALYSIS Describe and correct the error in

writing an equation of the line that passes through i ) -
. . 1 writing an equation of the line that passes through
(1, 3) and is parallel to the line y = Jx + 2. . . ) T
JEN—— 4 (4, —5) and is perpendicular to the line y = —x + 5.
NANANANT 3

X Y=y = m(xw—ﬂ'\uj wsed X Y= ¥ :(gx/—u——g[opé Isg\g
y=3={4=1  agiope it =gy ceppnn)
y +5=3x—

y—3=—-4xt4 (A)mkld be Needs To
y=3x—17

Siope shoulel e th=-3
e SO;X_Y\I
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